EARAROBEEIERT — 2 N— IBISH —F

20145F9A16H (X) 10EAFH3H

B> %R2% 55714 0FKH ‘ (%] W ‘ (ERBE] - | 4 (&) 14000 B

[x&<£] 1 % :1,600,000 @ ~ 23 :560,000  ~ 337 :320,000 M ~ 43 :240,000  ~ 5 7 :160,000 M

B BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS

N INELEZEPA o2 5752/%::&: 1:(2_8).0 2-1-1  |39.0| — 2 445 ﬁg%ﬁ(ﬂ%)
RBABNT Ry IR BAAHLT =k QI = A

ol7lg|FTyvo~AO> Ho2 g‘—i{'&ﬁ 1:(2;).3 2-3-3 395 — | 4 | 486 /?-i%ﬁ (x#)
XY TTFLRT—T By by TE-FK 4| stemis

slgliol FvFzTLA8= #H o2 ;i%fﬁ%i‘t (11219/26) 6-6-4 395 — | 3 | 499 éﬁg; (K3)
QT p—UTY BUE-XTLA - ) swai nmts

a1l T=2935547 2 g‘J‘_BSTE* 1(:12/92.)7 1-1-1 | 40.7| — | 7 | 533 l'l%(g)%ﬂf_(ilf{#)l_z
RF4—TAHL BiAATAY2-Y D @z

5 AR e PV o2 E%EEW 1:(350).7 456 | 40.7| — 1 452 %ggﬁékm
L2 —bR—1 BYT7RLIZF> (#2) EORS

N BEEEEEIRE HE TR RN
LTHIYFLIY BiNVRTF— (-3) AR T4 X

7 3| HyE—w K #o2 | AEEX 1:(321>.2 9-10-9 [39.6| — | 9 | 463 %ﬁ’; (K#)
LRXATA BANT L 2| s

glsl5|KTE2TAFS # 2 | BARE (1737172) 87-7 |41.0| — | 8 | 458 Tﬁg:; (k)
RTHLFUS = BT KD SN PP

9 4| AT E o2 | BER 1:(352).2 10-8-8 |41.7| — | 10 | 403 %Egk (KH)
RO—T TU BiL— XA 9 | mxwis

10l 8111 HILZ 2 ﬁ%ﬁ% 1:(3:).2 11-9-9 | 41.7| — 11 487 %E?ﬁétgs;éf;.y)_
LN—VFNFyPa BIIRTST— (-3) EE-rie

'l c FAEELE === fo2 | FERZ L 111 (448 — | 6 | 497 %g;ﬁ (K#)
R:OyavAny BAAHIANT— 12 | =5 @

@ 1 — S —EBlIEf

| 3=3F=

2= = 1,(8,9),2,6,10,7,5,3,4,11

d=zr= (1,9),8,6,2,10,5,4,11,3,7

40—+ — (1,9),8,(6,10),2,5,4, (3,11) ,7

[ /N

B OB 9 260M 74K 8-9 620M & 7-7 1,830 3EHE 8-9-10 1,780H

# B 9 170M 9-10 510 P B 7-7 1,660M 3@ 9-8-10 6,860

8 190M 8-10 690 B & 8-9 1,270M
10 190M BB 9-8 1,830MH

ABICOVWTRDTEEERROODE. TR LIV,




